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QUESTION 1

ActiveN uses which two switching policies? (Choose two.)
A. Least Conns

B. fewest outstanding requests

C. Round Robin

D. urlhash

Correct Answer: AC

QUESTION 2

What are two valid Cluster load balancing methods? (Choose two.)
A. fewest outstanding requests

B. urlhash

C. least connections

D. backup chaining

Correct Answer:. AB

QUESTION 3

Which caching parameter is set in AppRules?
A. expire time

B. maximum amount of objects

C. maximum cache size

D. object size

Correct Answer: A

QUESTION 4
Which two benefits does the Juniper DX provide? (Choose two.)
A. It offloads TCP connections from servers.

B. It spools email messages.



C. It offloads SSL from servers.
D. It compresses images.

Correct Answer: AC

QUESTION 5

Router A and B are connected with a point to point OC3 interface. Each router\\'s OC3interface is configured for both
Level 1 and Level 2. The routers are configured the same are a.How many ISIS adjacencies exist between the two
routers?

A.0

B.1

C.2

D.3

Correct Answer: C

QUESTION 6
Given the following:

An enterprise has four DXs in an ActiveN configuration. DX1 is in the master state andDX2, DX3 and DX4are in a
passive state. NodelDs of the Juniper DXs are: DX1=1, DX2=5, DX3=15 andDX4=20.DX1 fails due to a power outage.

Which DX will now be in the master state?
A. DX1
B. DX2
C. DX3
D. DX4

Correct Answer: B

QUESTION 7
What are three characteristics of RIPv2?
A. supports VLSM

B. SUPPORTS KERBEROS AUTHENTICATION



C. IS BACKWARD COMPATIBLE WITH RIPv1
D. Multicasts messages to RIP neighbors E. Uses Hello Protocol for neighbor discovery

Correct Answer: ACD

QUESTION 8

What two BGP attributes are incorporates for loop prevention within an AS using a route reflection configuration?
A. AS Path

B. Next Hop

C. Cluster List

D. Originator ID

E. Reflector List

Correct Answer: CD

QUESTION 9

After configuring an SLB group and saving the configuration, the icon for the group remains colored red in the WebUI
Why does this happen?

A. Health checking has not been enabled under the default SLB settings.
B. Health checking has not been enabled under the SLB group settings.
C. SLB has not been enabled under the SLB group settings.

D. SLB has not been enabled under the default SLB settings.

Correct Answer: D

QUESTION 10

How are AppRules executed?

A. most common AppRule to least common as per stats

B. by AppRule type in the order they were written

C. in the order they where written

D. most common AppRule to least common as per stats and AppRule type

Correct Answer: B




QUESTION 11

Which service uses AppRules?
A. Redirector

B. Forwarder

C.SLB

D. Cluster

Correct Answer: D

QUESTION 12

Which DX process is used to provide nonweb SSL termination?
A. Cluster

B. Forwarder

C. Redirector

D. SLB

Correct Answer: B
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